C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 40,838 + 19,885 =

< @ @ @ @ @ @ > 2
2) 32,163+9,751 = 8.
4.

< @ @ @ @ @ >

3) 49,503 + 39,427 =

< @ @ @ @ @ @ > 7
4) 81,129 + 4561 = 8.
< @ @ @ @ @ >

5 60,652 + 15,308 =

< ® @ ® @ ® >

6) 17,250 + 11,866 =

< ® @ L ® L *—>»

7) 13,731+6,911=

< ® @ ® @ ® >

8) 89,095+ 10,417 =

< ® @ ® @ ® >
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 40,838 + 19,885 =

1. 60,723

40,838 50,838 59,838 60,638 60,718 60,723
—e— @& @ o o o . 41914

+10,000 +9,000 +800 +80 +5
2) 32,163+ 9,751 = 3. 88,930
32,163 41,163 41,863 41,913 41,914 4 85,690
< e———— e —— 6 ——o 0 >
+9,000 +700 +50 +1 5 75,960
3) 49,503 + 39,427 =
6. 29,116

49,503 79,503 88,503 88903 88,923 88,930
+30,000 +9,000  +400 +20 +7

4) 81,129 + 4,561 = g. 99512

81,129 85,129 85,629 85,689 85,690
D S S

+4,000 +500 +60 +1
5) 60,652 + 15,308 =

60,652 70,652 75,652 75,952 75,960
< I >
+10,000 +5,000 +300 +8

6) 17,250 + 11,866 =

17,250 27250 28,250 29,050 29,110 29,116
“——e— @& @ o o 0 )
+10,000 +1,000  +800 +60 +6

7) 13,731+6,911=

13,731 19,731 20,631 20,641 20,642
S S S

+6,000 +900 +10 +1
8) 89,095+ 10,417 =

89,095 99,095 99,495 99,505 99,512
——e— e @ o 0

+10,000 +400 +10 +7
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